

$$(1! + 3! + 5! + \dots + 2n!) (2! + 4! + 6! + \dots + 2n!)$$

(۱)

از ۱ به بعد رقم یکان هکلی منتهی به ۱۰ است پس برای برآورد اول داریم :

$$(1! + 3!) = 1 + 4 = 5$$

دوباره برآورد دوم هم داریم :

$$(2! + 4!) = 2 + 8 = 10$$

$$\Rightarrow 5 \times 10 = 50$$

در نتیجه رقم یکان ۰ است

$$A = \frac{1}{(1+\sqrt{5})^{\frac{1}{2}}} \times (1+\sqrt{5})^{\frac{1}{2}}, \quad \varepsilon + \sqrt{5} = \frac{(1+\sqrt{5})^2}{2}$$

(۲)

$$\left(\frac{(1+\sqrt{5})^2}{2}\right)^{\frac{1}{2}} = \frac{(1+\sqrt{5})^{\frac{1}{2}}}{\sqrt{2}} \Rightarrow A = \frac{1}{\frac{(1+\sqrt{5})^{\frac{1}{2}}}{\sqrt{2}}} \times (1+\sqrt{5})^{\frac{1}{2}} = \frac{\sqrt{2}}{(1+\sqrt{5})^{\frac{1}{2}}} \times (1+\sqrt{5})^{\frac{1}{2}} = A = \sqrt{2}$$

$$B = \left(\frac{\sqrt{2} + \sqrt{5}}{\sqrt{10} + 2} \right)^{\frac{1}{2}} \left(\frac{\sqrt{2}}{\sqrt{3} - \sqrt{5}} - \sqrt{3 + \sqrt{5}} \right) \Rightarrow \frac{\sqrt{2}}{\sqrt{2}} \left(\frac{3 - \sqrt{5}}{2} - (3 + \sqrt{5})^{\frac{1}{2}} \right)$$

$$\frac{\sqrt{2} + \sqrt{5}(\sqrt{10} - 2)}{\sqrt{10} + 2 \times (\sqrt{10} - 2)} = \frac{\sqrt{2} + \sqrt{5}\sqrt{10} - 2\sqrt{5}}{\sqrt{10} + 2\sqrt{10} - 4} = \frac{\sqrt{2} + \sqrt{50} - 2\sqrt{5}}{3\sqrt{10} - 4}$$

$$C = \frac{\sqrt{2} + \sqrt{5}(\sqrt{10} - 2)}{3\sqrt{10} - 4} = \frac{\sqrt{2} + \sqrt{50} - 2\sqrt{5}}{3\sqrt{10} - 4} = \frac{19\sqrt{2} - 19\sqrt{3} + 19\sqrt{2} - 19}{19} = \frac{19(\sqrt{2} - 1)}{19} = \sqrt{2} - 1$$

$$\frac{\sqrt{2} - 1}{\varepsilon + \sqrt{2}} \times \frac{(\varepsilon - \sqrt{2})}{(\varepsilon - \sqrt{2})} = \frac{12\sqrt{2} - 12 - 2 + \sqrt{2}}{\varepsilon - 2} = \frac{12\sqrt{2} - 14}{\varepsilon - 2}$$

$$\frac{1}{\varepsilon - \sqrt{2}} \times \frac{(\varepsilon + \sqrt{2})}{(\varepsilon + \sqrt{2})} = \frac{\varepsilon + \sqrt{2}}{\varepsilon - 2} = -2 - \sqrt{2}$$

$$D = \frac{\sqrt{2} + \sqrt{5}(\sqrt{10} - 2)}{3\sqrt{10} - 4} = \frac{\sqrt{2} + \sqrt{50} - 2\sqrt{5}}{3\sqrt{10} - 4} = \frac{19\sqrt{2} - 19\sqrt{3} + 19\sqrt{2} - 19}{19} = \frac{19(\sqrt{2} - 1)}{19} = \sqrt{2} - 1$$

$$\Rightarrow \sqrt[4]{2^8} \times \sqrt[4]{4^2} \times \sqrt[4]{\varepsilon^2} = \sqrt[4]{2^8 \times 4^2 \times \varepsilon^2} = \sqrt[4]{2^8 \times 2^4 \times \varepsilon^2} = \sqrt[4]{2^{12} \times \varepsilon^2} = \sqrt[4]{2^{12}} \times \sqrt[4]{\varepsilon^2} = 2^3 \times \sqrt[4]{\varepsilon^2} = 8 \times \sqrt[4]{\varepsilon^2} = 12$$

(a)

$$r^n + r^{n+1} + r^{n+2} + r^{n+3} + r^{n+4} + r^{n+5} + r^{n+6} \Rightarrow \omega r$$

$$r^{n-2} + r^{n-1} + r^n + r^{n+1} + r^{n+2} + r^{n+3} \Rightarrow a \left(\frac{q^4 - 1}{q - 1} \right) \Rightarrow 1 \left(\frac{r^4 - 1}{r - 1} \right) = \frac{r^4 - 1}{r - 1} = r^3 + r^2 + r + 1$$

$$\frac{r^n (1 + r + r^2 + r^3 + r^4 + r^5 + r^6)}{r^n (r^{-2} + r^{-1} + 1 + r + r^2 + r^3 + r^4)} = \frac{r^n (r^7)}{r^n (r^2)} = \omega r \Rightarrow \frac{\omega r \times 4r}{r^4 \times 4} = \left(\frac{r}{r} \right)^n$$

$$\Rightarrow \frac{1}{r} \left(\frac{r^4 - 1}{r - 1} \right) = \frac{r^4 - 1}{r - 1} = \frac{4r}{1} = 4r$$

$$\left(\frac{\omega r \times 4r}{r^4 \times 4} \right) = \left(\frac{r}{r} \right)^n \Rightarrow \left(\frac{1}{r} \right) = \left(\frac{r}{r} \right)^n \Rightarrow \left(\frac{r}{r} \right)^1 = \left(\frac{r}{r} \right)^n \Rightarrow \boxed{n=1}$$

(4)

$$a = \sqrt[4]{\sqrt{4} - r}, \quad b = \sqrt[4]{\sqrt{4} + r} \quad t = ?$$

$$(a^4 + b^4 - rab)^4 (a^4 + b^4 + rab)^4 = t(r - \sqrt{r})$$

$$((a - b)(a + b))^4 = t(r - \sqrt{r}) \Rightarrow (a^4 - b^4)^4 = t(r - \sqrt{r})$$

$$\left(\sqrt[4]{(\sqrt{4} - r)^4} - \sqrt[4]{(\sqrt{4} + r)^4} \right)^4 = t(r - \sqrt{r}) \Rightarrow \left((\sqrt{4} - r) - (\sqrt{4} + r) \right)^4 = t(r - \sqrt{r})$$

$$(2\sqrt{4} - 2\sqrt{r})^4 = t(r - \sqrt{r}) = 16 + 16 - 16\sqrt{r} = 32 - 16\sqrt{r} = 16(2 - \sqrt{r}) = t(r - \sqrt{r}) = t(2 - \sqrt{r}) \Rightarrow \boxed{t=4}$$

(v)

$$a = \sqrt[4]{\frac{r - \sqrt{r}}{r - \sqrt{r}}}, \quad \left(a + \frac{1}{a} + \sqrt{r} \right)^4 \left(a + \frac{1}{a} - \sqrt{r} \right)^4 = r t \quad t = ?$$

$$\left(\left(a + \frac{1}{a} + \sqrt{r} \right) \left(a + \frac{1}{a} - \sqrt{r} \right) \right)^4 = r t \Rightarrow \left(\left(a + \frac{1}{a} \right)^2 - r \right)^4 = r t \Rightarrow$$

$$\left(r - \sqrt{r} + \frac{1}{r - \sqrt{r}} \right)^4 = r^2 - r t \Rightarrow (14 - 14)^4 = r^2 - r t \Rightarrow 14^4 = r^2 - r t$$

$$r - \sqrt{r} + \frac{r + \sqrt{r}}{r - \sqrt{r}} = r - \sqrt{r} - r - \sqrt{r} = -2\sqrt{r} \Rightarrow \boxed{t=4}$$

$$A = \sqrt[n]{\frac{\sqrt[n]{\frac{1}{r}}}{r^{\frac{1}{n}}}} \left(\frac{1}{r}\right)^{-\frac{1}{n}} \quad (rA)^{-\frac{1}{n}} = ? \quad \left(\frac{1}{r}\right) \quad \textcircled{A}$$

$$\Rightarrow \textcircled{A} = r^{\frac{r}{n}} \times r^{\frac{1}{n}} \Rightarrow r^{\frac{r}{n} + \frac{1}{n}} = \frac{r}{r} = 1 \Rightarrow \textcircled{r^r}$$

$$r \left(r^{\frac{1}{r}}\right)^{-\frac{1}{r}} = r^{-1} \Rightarrow \left(\frac{1}{r}\right)$$

$$\sqrt[n]{a} = r \sqrt[n]{a^{10}} \quad \frac{\frac{1}{a} - r}{1 + \sqrt{r}} = ? \quad \textcircled{9}$$

$$a^{\frac{1}{n}} = r^r \times a^{\frac{10}{n}} \Rightarrow a^{\frac{1}{n} - \frac{10}{n}} = r^r \Rightarrow a^{-\frac{9}{n}} = r^r \Rightarrow \left(\frac{1}{a}\right)^{\frac{r}{n}} = r^r$$

$$\sqrt[n]{a} = r \sqrt[n]{a^{10}} \Rightarrow \frac{1}{a} = r \sqrt[n]{a^{10}} \Rightarrow \frac{r \sqrt[n]{a^{10}} - r}{1 + \sqrt{r}} = \frac{r(\sqrt[n]{a^{10}} - 1)}{(1 + \sqrt{r})(1 - \sqrt{r})}$$

$$\frac{r(-1 + r \sqrt{r})}{1 - r} = \frac{-r + r^2 \sqrt{r}}{1 - r} = \frac{-r(1 - r \sqrt{r})}{1 - r} = \frac{r(1 - r \sqrt{r})}{r - 1} = \boxed{9 - r \sqrt{r}}$$

$$\sqrt[n]{a+b} - \sqrt[n]{a-b} = r \quad \sqrt[n]{a+b} + \sqrt[n]{a-b} = r \quad ? \Rightarrow \frac{a}{r} \quad \textcircled{10}$$

$$(a-b) = r^n \quad \frac{(a+b)}{a+b} - r = \frac{a+b}{r} - \frac{r}{r} = \left(\frac{a}{r}\right)$$

$$\frac{(a-b)(a+b)}{r} = a^r - b^r \Rightarrow r(a+b) = a^r - b^r \Rightarrow r(a+b) = r + a = r + b$$

$$r(a+b) = a + b \Rightarrow \boxed{a+b = \frac{a+b}{r}}$$